

1

$$\begin{cases} u_{xx} = u_{tt} \\ u_x(0,t) = 0 \\ u_x(4,t) = 0 \\ u(x,0) = 2 \cos(\pi x) + 5 \\ u_x(x,0) = 1 - \cos(2\pi x) \end{cases}$$

$$u(x,t) = F(x)G(t) \rightarrow F''G = \ddot{G}F \rightarrow \frac{F''}{F} = \frac{\ddot{G}}{G} = \begin{cases} k^2 \\ 0 \\ -k^2 \end{cases}$$

$$\therefore k^2 \rightarrow \frac{F''}{F} = k^2 \rightarrow F'' - k^2 F = 0 \rightarrow F(x) = A e^{kx} + B e^{-kx}$$

$$u_x(0,t) = F'(0)G(t) = 0 \rightarrow F'(0) = 0 \rightarrow -$$

$$u_x(4,t) = F'(4)G(t) = 0 \rightarrow F'(4) = 0$$

$$\therefore 0 \rightarrow \frac{F''}{F} = 0 \rightarrow F'' = 0 \rightarrow F(x) = A^* x + B^*$$

$$F'(0) = 0 \rightarrow A^* = 0$$

$$F(x) = B^* \rightarrow$$

• \rightarrow $\tilde{G}(t) = B^* e^{-k^2 t}$

$$\tilde{G}(t) = 0 \rightarrow G(t) = (A + B)$$

$$\therefore -k^2 \rightarrow \frac{F''}{F} = -k^2 \rightarrow F'' + k^2 F = 0$$

$$F(x) = A^* \cos kx + B^* \sin kx$$

$$F'(0) = A^* k \sin kx + B^* k \cos kx \Big|_{x=0} \rightarrow B^* = 0$$

$$F'(4) = 0 \rightarrow -A^* \sin kx \Big|_{x=4} = 0$$

$$\xrightarrow{A^* \neq 0} \sin 4k = 0, \quad 4k = n\pi, \quad k = \frac{n\pi}{4}$$

$$F(x) = A^* \cos\left(\frac{n\pi}{4} x\right)$$

$n = 2, 3, \dots$

16

$$\frac{\tilde{G}}{G} = f\left(\frac{n\pi}{4}\right)^2 \rightarrow \tilde{G} + \left(\frac{n\pi}{4}\right)^2 G = 0 \rightarrow G(x,t) = (C^* \cos \frac{n\pi}{4} t + D^* \sin \frac{n\pi}{4} t)$$

$$U(x,t) = b_0 t + a_0 + \sum_{n=1}^{\infty} \left(a_n \cos \frac{n\pi}{4} t + b_n \sin \frac{n\pi}{4} t \right) \cos \frac{n\pi}{4} x$$

$$U(x,0) = 2 \cos(\pi x) + 5 = a_0 + \sum_{n=1}^{\infty} a_n \cos \frac{n\pi}{4} x$$

$$= a_0 + a_1 \cos \frac{\pi}{4} x + a_2 \cos \frac{\pi}{2} x + a_3 \cos \frac{3\pi}{4} x + a_4 \cos \pi x + \dots$$

$$a_0 = 5$$

$$a_4 = 2$$

$$a_1 = a_2 = a_3 = 0$$

$$a_5 = a_6 = \dots = 0$$

$$U_t(x,0) = b_0 + \sum_{n=1}^{\infty} \left(a_n \frac{n\pi}{4} \sin \frac{n\pi}{4} t + b_n \frac{n\pi}{4} \cos \frac{n\pi}{4} t \right) \cos \frac{n\pi}{4} x = 1 - \cos(2\pi x)$$

$$= b_0 + \sum_{n=1}^{\infty} \frac{n\pi}{4} b_n \cos \frac{n\pi}{4} x = 1 - \cos(2\pi x)$$

$$= b_0 + \frac{\pi}{4} b_1 \cos \frac{\pi}{4} x + \frac{\pi}{2} b_2 \cos \frac{\pi}{2} x + \frac{3\pi}{4} b_3 \cos \frac{3\pi}{4} x + \dots + 2\pi b_8 \cos 2\pi x + \dots$$

$$= 1 - \cos(2\pi x)$$

$$b_0 = 1$$

$$b_1 = b_2 = b_3 = \dots = b_7 = 0$$

$$2\pi b_8 = 1 - \cos(2\pi x) - 1 \rightarrow b_8 = \frac{-1}{2\pi}$$

2

$$u(x,t) = 5 + t + 2 \cos \pi x \cos \pi t - \frac{1}{2\pi} \sin 2\pi t \cos \pi x$$

6